APTITUDE TEST - QUIZZY 1 - QUESTION PAPER —40 min
PLEASE SPEND SOME TIME TO THINK ABOUT THE ANSWERS

*NAME: *BATCH & TIMING:
QUESTIONS
1. What number should replace the question mark? Hint: try multiplying some numbers to find a pattern

abyabvyabh
NIPANPANY

2. What word in brackets means the same as the word in capitals?
FORTE (endowment, conduct, talent, redoubt, style)

3. What 2 numbers comes next in this sequence? (25, 32, 27, 36, ?, ??) Hint: find a pattern....

4, A car travels at a speed of 40 kmph over a certain distance and then returns over the same distance
at a speed of 60 kmph. What is the average speed for the total journey? Hint: use 60 as the distance
and calculate.

5. What number should replace the question mark? ( 926 : 24 ; 799 : 72; 956 : ?) Hint: try multiplying
any 2 numbers and adding the third.
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6. 62HNF73PLI9K
Arrange the letters in forward alphabetical order followed by the numbers in descending order.

7. The top set of six numbers has a relationship to the set of six numbers below. The two sets of six
boxes on the left have the same relationship as the two sets of six boxes on the right. Hint: check if
the even and odd numbers follow any pattern like: ‘even numbers multiplied by some number etc’..
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8. A man weighs 75% of his own weight plus 25 kgs. How much does he weigh? Hint:75% of what plus
25 = what ???.

9. »r I HSIREETY »{H$I&EE Y »{HEE LY »iASI&EE Y »1H$I&E
€12

Which three symbols are missing from the above sequence and from where within the sequence are they
missing? Cut and paste the 3 symbols in the answer space and indicate which sequence they are

missing from

10. How many minutes is it before 12 noon NOW, if “10 minutes ago it was 15 minutes before 12 pm”?
Hint: check your watch and figure it out..




